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Abstract

Bi-cooperative games have been introduced by Bilbao as a generalization of classical cooper-
ative games, where each player can participate positively to the game (defender), negatively
(defeater), or do not participate (abstentionist). In a voting situation (simple games), they
coincide with ternary voting game of Felsenthal and Machover, where each voter can vote in
favor, against or abstain. In this paper, we propose a definition of value or solution concept
for bi-cooperative games, close to the Shapley value, and we give an interpretation of this
value in the framework of (ternary) simple games, in the spirit of Shapley-Shubik, using
the notion of swing. Lastly, we compare our definition with the one of Felsenthal and Ma-
chover, based on the notion of ternary roll-call, and the Shapley value of multi-choice games
proposed by Hsiao and Ragahavan.

Keywords:  cooperative game theory, bi-cooperative games, power index, Shapley
value.



1 Introduction

Cooperative game theory deals with set functions v : 2¥ — R, where N is the set of
players (or voters, etc.), and v(S) is the worth of coalition S C N. Binary voting games
are examples of such games [16] in which the value of v is limited to {—1,1}. For S C N,
v(S) is interpreted as the result of the vote (+1 means that the bill is accepted whereas —1
means that the bill is rejected) when S is the set of voters in favor, the other voters N \ §
being against. For general games, v(S) can take any non-negative value and represents the
asset that all players of S will win if they play together against N\ S.

The field of cooperative game theory has been enriched these recent years by many new
kind of games generalizing previous concepts, trying to model in a more accurate way the
behavior of players in a real situation. Let us cite for example, ternary voting games of
Felsenthal and Machover [8], where abstention is an alternative option to the usual yes and
no opinions, and bi-cooperative games proposed by Bilbao et al. [2], where the players can
play in favor, play against or do not play. For these two examples, the game v is defined as
a function of two arguments - the first one for the voters voting yes (resp. the participants
playing in favor), and the second one for the voters voting no (resp. the participants playing
against). The remaining set of voters or players corresponds to the abstentionists (resp.
the players that do not participate). The following example gives an illustration of a bi-
cooperative game.

Example 1 Two companies A and B are the only companies that sell a specific product.
This can happen for instance for military equipments or very large constructive works (con-
struction of a metro,...). A and B are thus always in competition for the same calls for
tenders. In such case, the project is won by either A or B. If the offers proposed by the
two companies are quite similar, the project is split into two equal pieces - one piece for each
company.

Some traders N are currently working for company A and are linked with A by a tem-
porary employment contract. Each trader has three options: stay in A, negotiate to break
the contract and join another company than A and B, or negotiate to break the contract and
join company B.

The efficiency of these traders is measured regarding the profit company A obtains thanks
to them. More precisely, let v(S,T') be the difference between company A’s profit when S
works for A, T works for B and N \ (SUT) works for neither A nor B, and company A’s
profit when none of N works for either A or B.

One of the main concerns in game theory is to define the notion of value or power index
¢;(v) of a player i. For usual games, classical examples are the Shapley value, and the
Shapley-Shubik power index. For ternary voting games, a power index has been defined by
Felsenthal and Machover, based on the notion of roll-call [8]. We aim here at defining a value
and a power index for bi-cooperative games in the spirit of Shapley and Shapley-Shubik.

In usual games, each player has only two options: either to join a coalition or to stay
aside. For a player that chooses the first option, he or she is supposed to cooperate as
much as possible in order to maximize the total worth that the coalition will get. Hsiao
and Raghavan have introduced multi-choice games in which each player has several possible
levels of participation (among a finite number of possible levels that are ordered from non-
participation to complete participation) to the game [12]. Multi-choice games can be seen
as an intermediate notion between classical games and fuzzy games [3] in which each player
participates to some degree in [0, 1]. Clearly, the contribution of a player to a game depends
on the investment he or she puts, that is on his level of participation to the game. A player



shall be rewarded more if he or she participates more to a game. The importance index of
a player depends naturally on his level of participation, leading to the introduction of an
importance index ¢;;(v) of player ¢ when he or she participates at level j [12].

There is a close link between bi-cooperative games and multi-choice games since there
are three ordered levels in bi-cooperative games, which are against, abstention and in favor.
However, the levels in the multi-choice games are of unipolar nature in the sense that one can
only bring a non-negative value, whereas the levels in the bi-cooperative games are of bipolar
nature in that one can bring a positive value (play in favor of the coalition), a negative
value (play against) or null value (status quo when doing nothing). Moreover, the worth of a
multi-choice game if all players choose the lowest level of participation is zero, and the worth
of a bi-cooperative game if all players are against is non-positive. Hence, bi-cooperative
games cannot be seen as a particular case of multi-choice games due to this difference in
nature, and the value defined for multi-choice games is not a priori suited for bi-cooperative
games. Anyhow, the idea of defining a value depending on the participation level can be
applied to bi-cooperative games. For a player i, we will denote by ¢." (v) the payoff for being
defender, and —¢; (v) the payoff for being defeater (with ¢; (v) > 0). The payoff for being
abstentionist is 0.

Example 2 Consider Example 1 with N = {1,2}. Trader 1 (resp. trader2) is very efficient
in helping A (resp. B) to win but is completely inefficient when working for B (resp. A).
Consider a call for tenders between A and B in which A and B propose basically the same
quality of offer. When trader 1 works for A and 2 works for none, company A outranks B
and wins. When 2 works for B and 1 works for none, company B wins. In the remaining
cases, there is a draw. In particular, when 1 works for A and 2 works for B, the offers of A
and B are of better quality but are still of the same level.

From the standpoint of company A, trader 1 should work for A and trader 2 should not
work for B in the future. It is indeed basically useless for trader 2 to stay in A. Hence,
company A should pay ¢} (v) to trader 1 for staying in A, and trader 1 can leave company
A for free whatever he/she does after. Moreover, trader 2 is not rewarded if he/she decides
to stay in A, can break hie/her contract for free if he/she signs an engagement that he/she
will not join B, but has to pay ¢, (v) otherwise.

After having given formal definitions of bi-cooperative games and related notions in
Section 2, we introduce in Section 3 values and power indices in a general way. Then Section
4 gives two axiomatizations of what we call the Shapley value for bi-cooperative games,
and its interpretation as a Shapley-Shubik-like power index. Lastly, Section 5 performs a
comparison with the power index of Felsenthal and Machover, and with multi-choice games.

2 Ternary simple games and bi-cooperative games

Let N := {1,...,n} be a finite set of players. In classical cooperative game theory, the
characteristic function of a game is a function v : P(N) — R such that v(0)) = 0, where
P(N) is the power set of N. For any coalition S C N, v(S) is the worth of S. Depending
on the context, the worth of S may represent the monetary value of the output produced by
the cooperation between its members, the cost of a project designed solely for the members
of S, or the abstract power of coalition S on a voting or decision system [4]. A game is
monotonic whenever S C T implies v(S) < v(T'). The set of all cooperative games on N is
denoted G(N).



Let us first focus on this last interpretation, which is related to simple games. A simple
game is a monotonic game v taking its value in {0, 1}, (it could be {—1,1} as well, in this
case v()) = —1) and models voting situations, i.e., players are voters. v(S) = 1 means that
if players in S vote in favor for some bill and players in N \ S vote against, then the bill
will pass, and S is said to be a winning coalition. If on the contrary v(S) =0, S is a losing
coalition and the bill will be rejected.

This is a coarse modeling of real situations since it often happens that voters abstain, and
it is not possible in the above model to distinguish between voting against and abstention.
For this reason, Felsenthal and Machover [8] proposed ternary wvoting games, where each
player can choose between voting in favor, against or abstaining. Formally, we introduce
Q(N):={(S,T)|S,T C N,SNT = 0}, the set of pairs of disjoint coalitions, and endow it
with a partial order C defined by (S,7) C (5',7") iff S C S" and T D T". A ternary voting
game is a function v : Q(N) — {—1, 1}, where v(S,T) is the result of the vote (1 if the bill
is accepted, —1 if it is rejected) when voters in S vote in favor, voters in T" vote against, and
the remaining voters abstain. Moreover, v satisfies

(i) v(@,N) = -1, v(N,0) =1
(ii) if (S, T") C (S,T), then v(S",T") < v(S,T) (monotonicity).

The first condition says that if all voters vote in favor (against), then the bill is accepted
(rejected). The second condition is monotonicity, in the sense that the more voters vote in
favor and/or the less voters vote against, the more the bill will be accepted.

Let us slightly refine the proposal of Felsenthal and Machover by introducing a third
possible value for v, which is 0, and which represents the “no decision” situation. A ternary
simple game or bi-cooperative simple game is a function v : Q(N) — {—1,0,1} which
is monotonic is the above sense, and satisfies v(f),()) = 0 in addition to v(f, N) = —1,
v(N,() = 1, these last two conditions being useful only for avoiding triviality. Condition
v(f,0) = 0 means that when everybody abstains, no decision can be taken.

The same as games generalize simple games, bi-cooperative games, as proposed by Bilbao
2], generalize ternary simple games. A bi-cooperative game is a function v : Q(N) — R
such that v(0,0) = 0. v(S,T) represents the worth of the bi-coalition (S,T'), where players
in S play against players in T, the other players not taking part to the game. As for classical
games, the exact meaning of “worth” of (S,7") depends on the context. It may be e.g. the
monetary value that S will win (or lose, if the amount is negative). In a bi-coalition (S, 7),
we call S the defender part, while T is the defeater part. Bi-cooperative games which are
monotonic in the sense of ternary simple games have been introduced independently by the
authors under the name of bi-capacities [10, 9, 11].

We denote by G(N) the set of all bi-cooperative games on N.

For illustrative purpose, we present yet two other examples of bi-cooperative games.

Example 3 The teacher of a classroom wants the pupils to collect some funds for a hu-
manitarian association. So, he/she asks the pupils to join (with cans) another class in a
big shopping mall to ask coins to people. Not all the children are really willing to do so
eventhough they are obliged to go to the mall. Some of them are doing their best to get
as much money as possible by trying to convince people, some others are not participating
to the collection (going for instance in a toy store), and the remaining ones are disturbing
the pupils that try to collect some funds, making them less efficient. So, some children are
participating to the task, some others are acting against the task and the remaining ones are
abstentionist. The bi-cooperative game measures the difference between the total amount of



money obtained at the end of a day and what the other class would have got alone. The more
children are participating, the more money the association gets, and the more children are
acting against the collection, the less money the association gets.

The teacher is used to sharing out candies to the pupils. More precisely, each child has a
credit of candies that increases during the year. In order to motivate the children in the task
and also to deter the most unruly of them from annoying the others, the teacher wishes to
give candies (increment the credit) to the well-behaved pupils and take back (decrement the
credit) some candies to the unruly pupils on the basis of their contribution.

Example 4 A set N of farmers raise three kinds of plants called A, B and C' (for instance
colza, grass and reed) in a given area. Plant A (defeater) needs a lot of pesticide and chemical
fertilizers so that it pollutes a lot the local river. Plant B (abstentionist) needs no special
treatment and thus no pollution is caused by this plant. Plant C' (defender) helps in reducing
the pollution since it absorbs some chemicals. The Governor of this area wants to determine
the tax for each farmer on the basis of the impact of the farming on the river pollution rate.
The bi-cooperative game v(S,T) measures the pollution rate in the river compared to the time
when there were only meadows in the area, when farmers S raise plant C', farmers T raise
plant A and farmers N \ (SUT) raise plant B.

Before ending this section, we introduce bi-unanimity games. Let (S,7') € Q(N) \
{(0,0)}. The bi-unanimity game u(s 7+ is defined as:

1 SD>D8andT CT’
0 otherwise.

U(S’,T’)(Sv T) - { (1>

As for classical games, they form a 3" — 1 dimensional basis of GI(N), and coordinates of
v in this basis are the Mobius transform of v (see [9, 11] for details).

3 Value and power index for bi-cooperative games

Let us try to define the notion of value and power index for bi-cooperative games and
ternary simple games, in the spirit of what was done by Shapley for cooperative games [15],
and Shapley and Shubik for simple games [17].

Let us first take the point of view of a value. In classical cooperative game theory, an
imputation (more precisely, a pre-imputation) is a vector x € R™ satisfying the efficiency
principle, that is, >,y x; = v(N) [4]. The imputation represents the share of the total
worth of the game v(N) among the players, assuming that all players have decided to join
the grand coalition N. A walue is a mapping ¢ : G(N) — R™ which assigns to every game
an imputation. The well-known Shapley value [15] is defined by

o) = 3 25D g4y — (s, @)

n!
SCN\i

For bi-cooperative games, the situation differs since apart of not participating to the game,
each player has two possible actions, namely to play in the defender or the defeater part, while
he/she has only one in the classical case. In order to generalize the notion of imputation,
we introduce the concept of reference action or level. The reference action is the action such
that if all players do this action, then the output of the game is 0. For classical games, the
reference action is to “not participate”, since v(f)) = 0. For bi-cooperative games, it is also

4



the non participation since v(,)) = 0. An imputation is defined for each possible action
(except the reference one) of a player with respect to the reference action, that is, it represents
a kind of average contribution of the player for a given action, compared to the reference
action (here, to do nothing). For bi-cooperative games, the possible actions are: to play in
the defender part, or to play in the defeater part. Consequently, we need two imputations
vectors, and thus two values, which we will denote by ¢* (defender part) and ¢~ (defeater
part). For preserving the meaning of “contribution” (which has a positive sense) and for
compatibility with previous works, we make the convention that ¢* is the contribution of
“playing in the defender part” instead of “doing nothing”, and ¢~ is the contribution of
“doing nothing” instead of “playing in the defeater part”, since this last action is supposed
to be harmful. For ¢~ the inverse convention could have been taken as well, the only change
would be the sign of ¢~. This convention can be controlled by axiom (I), as it will be shown
later.

As explained above, a central notion for imputations is the efficiency principle. Sticking
to the interpretation of the classical case, let us suppose that the defender part is the grand
coalition N. Compared to the situation where all players would have been in the defeater
part (the most unfavorable case), the gain is v(N, ) — v(0, N). This amount is to be shared
among players, rewarding them for their action to play in the defender part instead of playing
in the defeater part. Hence, according to the above convention and assuming additivity of
contributions, the efficiency principle writes:

Y o)+ é7(v) = v(N,0) — (0, N). (3)

1EN 1EN

Let us illustrate this with Ex. 1. Trader i gets bonus ¢ (v) if he/she stays at A, gets nothing
to break his/her contract if he/she promise not to work for B and must pay ¢; (v) to break
his/her contract if he/she is willing to join B. Hence the wealth discrepancy for trader i
from joining B to staying in A is ¢; (v) + ¢; (v). To determine the value of ¢*, company A
explains to the traders that when if they all join B, then A looses v(0), N), but if they all
stay at A, then A earns v(N, ()). This means that all traders of N brings an added worth of
v(N, ) —v(D, N) to company A, which has to be shared among all traders. Hence one shall
have equation (3).
Another natural proposal for the efficiency principle could be

D ooi () =N, 0), Y ¢ (v) = —v(B,N). (4)

ieN ieN
As we will see in next Section, this does not lead to an interesting solution.

Let us turn now to the simple game point of view. In this context, we speak of power
inder to measure the decisive power of each voter. According to Shapley and Shubik
[17], the power index is related to the number of times a voter makes a coalition win-
ning. Specifically, let ¢ be a permutation on N, defining an ordering of the voters, and
denote by I' the set of all permutations on N. Let us consider the sequence of coalitions
0, {c(1)},{c(1),0(2)},...,{c(1),...,0(j)},...,N. Due to monotonicity, there exists one
and only one index j such that {o(1),...,0(7)} is alosing coalition, while {¢(1),...,0(j+1)}
is winning. We say that player I, := o(j+1) swings coalition {o(1),...,0(j)}. The Shapley-
Shubik power index is defined as the relative number of times a voter swings:

. Hoerli=1}]




where |T'| = n!. It happens that the explicit expression of ¢;(v) is precisely (2). Note that
here, no efficiency principle underlies the construction, even it happens that the above index
satisfies it. Hence, other power indices have been defined, like the Banzhaf index [1], which
do not satisfy the efficiency principle.

Let us generalize the notion of swing to ternary voting games. In the above, a coali-
tion {o(1),...,0(j)} defines a partition of N into the set of voters voting in favor and the
set of voters voting against. Hence, considering that {o(1),...,0(j)} is a coalition voting
against would lead to the same definition, just by considering swings from winning to losing
coalitions. Since now abstention is a third alternative, the situation is getting more compli-
cated. A coalition {o(1),...,0(j)} could be voting in favor (resp. against), the remaining
voters {o(j+1),...,0(n)} being partitioned into abstainers and those voting against (resp.
abstainers and those voting in favor).

Specifically, let us define positive and negative swings. We consider as before an increasing
sequence of coalitions {o(1),...,0(j)} voting in favor, and a particular coalition 7" voting
against. We say that voter I;f = 0(j + 1) makes a positive swing for (o,T) if

o({o (V). ()} AG+2), o (IAT) < 0({o (1), .. oG4} {0 (+2), ... o(m)}AT).

(6)
Hence, when o(j + 1) changes from abstention to voting in favor, v increases. Similarly, let
us consider a coalition {o(1),...,0(j)} voting against, and a particular coalition S voting
in favor. Voter I ¢ := o(j + 1) makes a negative swing for (o, S) if

v({o(j+2),...,0(n)}NS {o(1),...,0(j)}) > v({o(+2),...,0(n)}NS, {o(1),...,0(j+1)}).

(7)
We define positive and negative power indices as the relative number of positive and negative
swings for a given voter 7, possibly taking into account the size of the swing, denoted AIT@')

and A 4(i) and defined by:

AT (i) =

)
v({o(1),...,0G + D} {o(G+2),...,0()}NT) —v({o(D),...,0()} {o(G +2),...,0(n)}NT)

A, s(i) =
v({o(G+2),. ..o N S, {o),....o()}) —v({o(i +2),...,0(m)} NS, {o(1),...,0([ + 1})

with i = o(j 4+ 1).

Yet we can think of different ways to define a “relative number”. Three simple ways of
defining it come up to mind, depending on the way we choose coalitions S, T', which are (we
treat the case of positive swings only, the other case is similar):

e we may consider for a given permutation o all possible coalitions T" voting against. Let
us denote this power index by 2"+, we obtain

o Z(G,T),aer,TgNu:I;T AIT@)

¢ (v) = (8)

21|

e instead of considering all possible T', we choose only one, which is the most unfavorable
(in terms of forming a winning coalition). This is achieved by always choosing 7' = N.
We denote this power index by ¢V, it writes

+ .
¢N+<U> - ZUER”:IIN AO’,N(Z) .

(9)

n!



e we choose only one T', which is the most favorable, i.e., T'= (). We denote this index
by 9.

Formulas for ¢2" —, ... are obtained by replacing I} by I, g, and A} (i) by A7 ().
The following result gives an explicit form of these power indices.

Proposition 1 For any ternary simple game v, the above Shapley-Shubik-like power indices
are given by:

A s =s = DY 904, T) — (8, T)

Z smeamy M
i w= Y M s 1) s T Ui
(5, T)€Q(N\1)
n—s—1)ls!
o) = 3 TR (Ui N (S U) — o8,V (SU4))
SeN\i )
o) = Y2 P D s N (SU) — o8, N\ )]
SeN\i
o) = Y O (50 0) (s,
SeN\i )
o= 3 0, 5)) 00, 509
SeN\i

Proof: Let us prove the first formula. Using the definition of A} (i) and putting S =
{o(1),...;0())}and T" ={o(j + 2),...,0(n)} NT, we get

AL () =v(SULT) —v(S,T)

with (S,7") € Q(N\17), hence we get the term into brackets. It remains to find the number of
pairs (0,7 leading to the same (S,7"). For finding S, the number of possible permutations
is s!(n — s — 1)!. For finding 7", the only possible T" are of the form 77U S’, " C S. This
gives 2° possibilities. Hence in total we have s!(n — s — 1)!2° which proves the result.

Let us prove the third formula. Putting S := {o(1),...,0(j)}, we get:

AL () =0v(SUL, N\ (SUi)) —v(S,N\ (SU1))

which is precisely the term into brackets in ¢~ " (v). It remains to count the number of
permutations such that S = {o(1),...,0(j)}. S having s elements and the number of free
elements being n — s — 1, this number is s!(n — s — 1)!, which proves the result.

Proofs for other formulas are similar. |

We remark that indices ¢?*, ¢?~ are not very interesting. Indeed, by putting v,(S) :=
v(S,0) and vo(T') := v(D, T), we are back to the classical case, and the ternary simple game
is equivalent to two classical simple games.



4 Axiomatization of the Shapley value for bi-cooperative
games

We give in this section an axiomatization of values for bi-cooperative games, in the spirit of
Shapley [15]. Our way of introducing axioms and proving results follow Weber [18]. Recall
that we have a value for the defender part and for the defeater part, denoted by ¢*, ¢~
respectively.

The first axiom that characterizes the Shapley value is linearity with respect to the
game. This axiom states that if several games are combined linearly then the values of each
individual game shall be combined in the same way to obtain the value of the resulting game.
This axiom is trivially extended to the case of bi-cooperative games.

Linearity (L): ¢*, ¢~ are linear on G(N).

Proposition 2 ¢*, ¢~ satisfy (L) if and only if for all i € N, there exists real constants
ag'y, agy for all (S,T) € Q(N) such that for every game v € Gl

of()= Y afru(s,T)

(S, T)eQ(N)

o)=Y agiu(ST).

(S, T)eQ(N)

Proof: The if part of the proof is obvious and left to the reader.
Consider ¢ satisfying (L). Let Usr be defined by Ugr(S’,7") equals 1 if S = S’ and
T =T, 0 otherwise. We have v = > ¢ o) v(S: T)Usr. By (L),

orw)= Y u(ST)¢] (Usr).

(8,T)eQ(N)

Setting ajg'fT := ¢; (Usr), we obtain the wished result. The proof for ¢~ is much the same.
|

Player i is said to be left-null (resp. right-null) if v(SUZ, T) = v(S,T) (resp. v(S, TUi) =
v(S,T)) for all (S,T) € Q(N \ 7). Hence, a left- (resp. right-) null player does not bring
any contribution to the defender (resp. defeater) part. For example, trader 1 in Ex. 3 is
right-null and trader 2 is left-null. The following axioms say that the imputation given to
such players should be 0.

Left-null axiom (LN): Vv € GB(N), for all i € N, ¢ (v) = 0 if i is left-null.
Right-null axiom (RN): Vv € GBI(N), for alli € N, ¢; (v) = 0 if i is right-null.

Proposition 3 Under (L) and (LN), for all v € GP(N),

o)=Y piy(SUi,T) - (S, T).
(S, T)eQ(N\7)



Proof: It is easy to check that the formula satisfies the axioms. Conversely, by (L), and
assuming ¢ is left-null, we have:

¢; (v) = Z aSTU(S T)
(5,T)eQ(N)

= Z [a370(S, T) + afl; 70(S Ui, T) + agipy0(S, T U )]
(S, T)eQ(N\7)

= Z (S, T)(aST+aSUzT) + Z aSTUz v(S, TUi)
(8, T)eQ(N\i) (S, T)€Q(N\i)

= 0.
We consider v’ in GZ/(N \ i) and extend it as follows:

W(S,T) = '(S,T), ¥(S,T) e QN \4)
W(SULT)=v'(S,T), Y(S,T)€ QN \ i)
W(S,TUi) =0, Y(S,T)e Q(N\i).

Then 7 is left-null for v, so that the above formula applies, and reduces to:
¢ (v) = Z v'(S, T)(ang + aJSrLiJi,T) = 0.
(S,T)eQ(N\7)

Since this must hold for any ' € GB(N \ i), we deduce that al’ + aSUZT = 0, for any
(S,T) # (0,0). Introducing this in the above, we have for any game v for which 7 is left-null:

Z aS TV (S, T U1) =0,
(S, T)eQ(N\i)

from which we deduce that af’ ; =0, for all (S,T) € Q(N \ i). Letting p&’ := aSUZT, the
result is proved. [

Similarly, one can show the following.
Proposition 4 Under (L) and (RN), for all v € GB(N),
or(w)= Y psrl(S.T) —u(S,T Ui
(S,T)EQN\)

The classical symmetry axiom says that the numbering of the players has no importance.
Let o be a permutation on N. With some abuse of notation, we denote o(S) := {o(i) }ses.

Symmetry axiom (S): ¢, (voo™!) = ¢/ (v), and ¢, (voo™") = ¢; (v), for
alli € N, for all v € GB(N).

Proposition 5 Under (L), (LN), (RN) and (S),

of )= Y pLl(SULT)—u(S,T)
(ST)EQN\i)

o)=Y PL(S,T) —v(S T U
(S, T)eQ(N\7)



Proof: By the linear and null axioms, we have

o)=Y pilo(SUiT) — (S, T)]
(S, T)eQ(N\7)
brpwoo )= > piF (e (S Ua(@),0H(T)) = v(o™(S), 0 H(T))].
(S, T)eQ(N\3)
Putting (S, 7") : (67(S),o~1(T)), which gives (S,T) = (¢(5"),o(T")), we get:
browoo ™y = Y Pl (S UL T —u(S, T

(8", 7T)€Q(N\i)

Applying symmetry, the result is proved. The case of ¢~ works similarly. |

The following axiom is particular to bi-cooperative games.

Invariance axiom (I): Let us consider v;, v, in G(N) such that the following
holds for some ¢ € N

Ul(SUZ,T) = UQ(S, T), 1)1(5, T) = UQ(S,TUZ) \V/(S, T) S Q(N\Z)

Then ¢ (vy) = ¢; (vy).

The axiom says that when a game vy is identical to v; up to the fact the action of player ¢
is “shifted” upward for vy (i.e., if 7 is in the defeater part, then i becomes non participant,
and if he/she is non participant, then he/she becomes defender), then the imputation for i
being defeater in vy equals the imputation for ¢ being defender in v;. It implies that the way
the computation is done for ¢* and ¢~ are the same, as shown in the next proposition.

REMARK 1: In axiom (I), we could have written ¢; (v1) = —¢; (vq) as well. This
has no influence on the rest, simply Shapley values ¢~ will always be negative
for monotonic games, instead of being positive. See Section 3.

Proposition 6 Under azioms (L), (LN), (RN) and (I), p:gHT = png, for alli € N and
all (S,T) € Q(N \ ).

Proof: Under the above axioms, we have:

o) = D pEni(SULT) — v (S T)
(S.T)eQ(N\i)
- Z p;iT[UQ(Sa T) — va(S, T Ui)]
(S.T)eQ(N\i)
6r(v2) = > psrlva(S.T) — va(S, T UG
(5,T)eQ(N\9)
which yields the result. [

We finally introduce the efficiency axiom, as we explained it in Section 3.

Efficiency axiom (E): For every game in G, 3", (¢ (v)+¢; (v)) = v(N,0)—
v(D, N).

10



Proposition 7 Under azioms (L), (LN), (RN), (S) and (E), the coefficients pL,,pF,
satisfy:

1

L
Pn—10= ﬁ
1

R
Pon—1 = E

Spﬁ—l,t tpft_l =(n—-s—1) (pst Ps t) Vs, t # n.
Proof: Under the above axioms,

> (@ (v) =3 Y [Phw(S UL T) = u(S,T)) + plu(S,T) — v(S, T Ui))]

ieN iEN (8,T)eQ(N\i)
= Y w(ST)[spty,—tpf,  + (n—s—t)(pL, - pk)].
(S,T)eQ(N)
Axiom (E) implies that the coefficient of v(NV, ) and v(0), N') should be 1 and -1 respectively,
and all others being 0.This yields the result. |

The final result is the following.
Theorem 1 Under azioms (L), (LN), (RN), (S), (I) and (E),

)= 3 B D 6 N (S ) — oS, N\ (S U))

n!
SEN\i
_ (n—s—1)ls! »
6 (v) = Y ————[v(S,N\ (SU)) —v(S,N\S).
n!
SEN\i
Proof: If axiom (I) is added, then psfjt = pft, and the result of Prop. 7 becomes:
1
Prn-10 = —
n
1
Pon—1 = —
n

pso=pos =0, Vse{l,n-2}
Sps—1t = tpst—1, Vs,te{l,...,n—1}.
For any (s,t) € {1,n — 1}* with s + ¢ < n — 1, we have
t t!
Psit = S—|-—1as+1’t71 == (3 I 1)(5 i 2) - (s T t)szrt,o-

For s +t =n — 1 we obtain

B sl B sl
Psit = mpn—l,o = F

When s+t <n —1, we get ps; = 0. The result is proved. [

We call ¢t, ¢~ as given above the Shapley value for bi-cooperative games.
An important remark is that, due to Prop. 1, the Shapley value for bi-cooperative games
coincides with the Shapley-Shubik-like power indices ¢+, ™~ introduced in Section 3.

By using the same technique as in Th. 1, it is not difficult to prove that if the efficiency
axiom is replaced by a stronger one:

11



Strong efficiency axiom (SE): For every game in G, 3"._ ¢ (v) = v(N, ),
and 3oy &7 (v) = —v(0, N).

then, under axioms (L), (LN), (RN), (S), and (SE), formulas in Th. 1 become:

s = 3 LT T U, 0) - o(s,0)

SEN\ nl
o= 3 P 6 - w5 L)
SeN\i ’

Note that the above formulas do not satisfy (I). By putting v1(-) := v(-,0) and vs(-) :=
v((,-), it is clear that we are back to the classical case, and this solution has no interest.
Indeed, Prop. 1 shows that these indices coincide with the Shapley-Shubik-like power indices
¢®+’ ¢@_-

Another axiomatization avoiding efficiency and (I) is possible, and is based on bi-
unanimity games, in the spirit of the axiomatization of Hsiao and Raghavan [12].

Let us consider again Example 1. Let N be a set of consultants working for A. 8" C N
are consultants that are decisive for A so that A cannot win without the presence of all of
them. Consultants 7" are quite bad and neither A nor B gains anything keeping or hiring
some of them. The other consultants N \ (5" UT") are also important but not for a positive
asset to A (they do not bring anything directly to A) but in the negative for B in the sense
that they can deter A from winning the project if any of them works for B. Let S be the
set of consultants that stay at A and T the set of consultants quiting A and hired by B,
the other consultants quiting A and remaining unemployed. To sum up, A wins over B iff
S D S and T C T', and there is a draw otherwise. Hence, the bi-unanimity game (s 1)
perfectly models this situation (see (1)).

We see that N\ (S UT") is in some sense as important as S’ to the success of A since
S’ acts positively in the favor of A (this concerns ¢; (u(s/ 1)), whereas N\ (S"UT”) acts
negatively against B (this concerns ¢, (u(s/,T/))). Company A pays a certain amount of
money ¢; (u(g/,T/)) for consultants of S’ to continue working for it, and let them go for
free if they want to quit the company whoever they will work for after. Company A pays
nothing to consultants of 7" if they want to stay in A and let them break their contract
for free whatever they do after leaving. Consultants N \ (5" UT") can break their contract
for free if they sign an engagement that they will not join B, but have to pay ¢, (U(S/,T/))
otherwise. All consultants of NV \ 7" have the same decisiveness since the project is not won
if any consultant of S” leaves A or any of N \ (S' UT") joins B. Thus, one should have
o (usr)) = &5 (usa) fori € S and j € N\ (S"UT’). All the consultants of N \ T’
can “share” the total asset for A, that is 1. Hence

Unanimity Game axiom (UG). For any bi-unanimity game w g 77

L ifies
o/ () = { 0 ifig

{ L ifie N\ (S'UT)

n—t’

¢; (usm) = 0 ifieSUT.

12



Theorem 2 Under (L), (LN), (RN), (S) and (UG),

) = 3 ST DU N (S U) — oS, N\ (SU)

n!
SCN\i
_ slin —s—1)! ,
o) = 3 T L (S N\ (SU) — (S, N\ S)).
SCN\i )

Proof: We consider only the case of ¢; (v). The proof is similar for ¢; (v). By Prop. 5,

of )= > L W(SULT) —u(ST)].

(S, T)eQ(N\7)

For (S,T) € Q(N \ i), we have us (S UL, T) —us (S, T) =1iff SUi 2 S, S 2 S and
TCT thatisi €S, 525 \iand T C T’ Hence for i € 5,

o () = > P

(S,T)EQ(N\i),SDS"\i,TCT"

- E: E: Pay

TCT' S=(S'\i)US", S"CN\(S'UT)

t' n—s'—t

t'! (n—s —1t)! I
B Z Z it —t) sl (n—s —t— s”)!ps/“”_l’t (10)

t=0 s"=0

Let us show by induction on ¢ that for all s € {s' —1,...,n — 1}

(11)

t!(n—t—1)!

r_ JOifs+t<n—1
Psi = — fs+t=n—-1

e For s’ =n, we have for any i € N,
(ﬁ (U(N,Q))) :pr]?—m-
By (UG), we get that pﬁ_w = % Hence, the induction assumption holds for s = n.

e Assume the induction hypothesis holds for n, n—1, ..., s’+1. Let us show by induction
ont' €{0,...,n— s + 1} that

- (12)
— For ¢ =0, we have for i € 5/,
+ o~ (=8
¢i (U(S"@)) - Z 5”!(n g — S//)!p8'+8"*1:0

s""=0

The terms p%. .., , are known for s” > 0 by the induction assumption on s'.

Hence
1

L L L
o (U(S’,@)) =Py—10 T Pn-10=Psg—10+ o

By (UG), we get ¢; (u(s9)) = + so that p&,_, ; = 0.
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— Assume (12) holds for ¢ = 0,...,t" — 1. From (10) applied to ¢; (us, Tu))
the term pL, ., is known from (11) by the induction assumption on s’ for
t€{0,...,t"}, 8" € {1,...,n— s —t}, and the term pl, . _,, is known from
(12) by the induction assumption on t' for ¢t € {0,...,t" — 1}, s = 0. The term
pl_1 4 is not already known. Hence

t’ t/l'
¢j_ (WSCT”)) = ps’—lt”+zt| "t |pn t—1,t

" —t — 1)

_ L
= Pt (t" —t)n!

t=0

It can be shown by induction that [11]

Za!(n—t—l)!: 1 ' (13)

—~ (a—1t)n! n—a

Hence

1
¢+ ( S/ T//)) = pﬁ’—l,t” + —n _ t”.

By (UG), we have ¢; (u(s.17)) = =57, so that p&_, ,, = 0. Hence (12) holds for
any t' =0,...,t" — 1.

Hence (12) holds for any ¢ € {0,...,n — s —1}.

From (10) applied to ¢; ( U5/, N\S") ), the term pSLurS,_l’t is known from (11) by the
induction assumption on s’ for te{0,...,n—45}, s €{l,...,n— s —t}, that is for
tef0,....,n—5 —1}, " €{l,...,n— s —t}. Moreover, the term psL,Jrs,,_Lt is known
from (12) for t € {0,...,n — s — 1}, s” = 0. The term p%_, ,_, is not already known.
Hence

n—s'—1

of (s msy) = Piin ot Z i =) ),p,’; _—

nsfl

(n—3s)M(n—t—1)!
= ps’—ln s’+ Z n—s—t)'n'

By (13),

o (U(S/,N\S/)) = pSL,_Ln_S, + l/ _ (n—s")I(s" — 1)!.
By (UG), we have ¢} (u(s/ns1) = &, so that
(n— (s’ = 1)!

n!

n!

L _
ps’fl,nfs’ -

Hence, (11) also holds for s = s'.

We end this section by illustrating the computation of ¢+, ¢~ on two examples.
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Example 5 The gain for a classroom of 5 pupils named A, B,C, D, FE in Ezample 3 are

given by :
v(S,T) = max [0, (Z o — Z 5;)

i€S €T

where 8; is the amount of money collected by pupil i if he/she contributes to the collection,
and §; is the mazximal amount of money that is lost due to his/her disturbing the other
pupils. That v(S,T) > 0 means that the pupils do not achieve in disturbing the children of
the other classroom.

pupil A | pupil B | pupil C' | pupil D | pupil E
5. | 2 2 1 1 0
o 5 3 1 1 0

Pupil E is left- and right-null, and pupil D s almost null. The two pupils B and C' provide
the same added value (i.e. §; + 0; ) from being defeater to being defender.

We have v(0, N) = 0. Formula (4) yields ¢; (v) =0 for all children i. This is off course
not desirable since some pupils (for instance pupil C') are quite good in annoying the other
pupils of their classroom, and deserve thus to be punished (high value of ¢; (v)) if they are
defeaters. The sum Y, (07 (v) 4+ ¢; (v)) represents the discrepancy between the mazimum
amount of possible candies that can be shared and the maximum amount of candies that can
be taken back. This quantity corresponds to the importance the teacher puts in the collection
activity. He/She decides to assign 60 to this value. The number of candies taken back to
i if he/she chooses defeater is W(]ﬁ;(v), and the number of candies given to i if
he/she chooses defender is W@*(v}. No candy is neither given nor taken back to
the abstentionist children.

A|B|C|D|FE
# candies taken back when choosing defeater | 4 | 5 | 12| 3 | 0
# candies given when choosing defender 8111141310

There are 36 candies distributed when all children participate positively to the collection.

Example 6 We take Fx. 4, and consider that basically, two fields of plant C are necessary to
balance the pollution caused by one field of plant A. We have v(S,T) =0 if =2 < |S|=2|T| <
5. When |S| —2|T| < =3, the pollution rate increases and v(S,T) = |S| — 2|T| + 2. When
|S|=2|T| > 6, plant C helps in reducing the pollution coming from the cities and v(S,T) = 1.

Farmers that raise plant A should have a taz increase proportional to ¢; (v) and farmers
that raise plant C' should have a taz decrease proportional to ¢; (v). We obtain ¢; (v) = 1.3
and ¢7 (v) = 0.6 for n = 10.

5 Comparison with related indices and values

We consider here the power index proposed by Felsenthal and Machover [8] for ternary
voting games and the value proposed by Hsiao and Raghavan [12] for multi-choice games.
To perform this comparison, we set ¢;(v) = ¢; (v) + ¢ (v) and we first characterize ¢;(v).
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5.1 Axiomatization of ¢,

From the axioms satisfied by ¢; (v) and ¢; (v), index ¢;(v) fulfills the following ones.
Linearity (1): ¢ is linear on G&(N).
Efficiency (e): Z ¢;(v) = v(N,0) —v(D, N) for all v € GE(N).
ieN
Let o be a permutation on N. Using previous notations
Symmetry (s): ¢, (voo~t) = ¢;(v), for all i € N and for all v € GZ/(N).

A player is said to be null if the asset is exactly the same when joining the defenders or
the defeaters.

Definition 1 The player i is said to be null for the bi-cooperative game v if v(S, T U{i}) =
v(8,T) =v(SU{i}, T) for any (5,T) € QN \ {i}).
This definition implies that ¢ is also left- and right-null. By (LIN) and (RN), we obtain
that ¢;(v) = ¢; (v) + ¢ (v) = 0.

Null player (n): If a player 4 is null for the bi-cooperative game v € GPI(V)

then ¢;(v) = 0.

For i € N, consider two games for which the result is exactly the same when 7 belongs
either to the defeater or the defender part. These two games differ when ¢ is abstentionist.
The case when i is abstentionist shall not be considered in the computation of the value so
that these two games shall have the same value for player .

Abstentionist Player (ap): Let i € N, and vy, vy in G2I(IV) such that for any
(5,T) € QN \{i})
n(SU{i},T) = va(SU{i},T), vi(S, T U{i}) = va(S, TU{i}),
and
v1(S,T) =v1(SU{i},T), va(S,T) = vo(S, T U {i}).
Then ¢z (U1> = ¢z (Ug).
The following can be shown (see [13, 14]).
Theorem 3 {¢;(v)},.y satisfies (1), (n), (ap), (s) and (e) if and only if

o) = S ST DU g, N (SU L) — oS, N\ S)).

n!
SCN\{i}

Let us end up this section by giving an interpretation of this index in the framework of
ternary simple games. In Section 3, we defined positive and negative swings as change in
decision whenever a voter was changing from abstention to either voting in favor or against.
Let us here define a swing without taking into consideration the abstention option. We say
that voter I, := o(j + 1) makes a swing in permutation o if

v({o(1), ..o oG +1),....om)}) <v({o(D),....0l + D} {o(G+2),...,0(n)}).

Denoting as before the size of the swing as A, (i), we define the power index as the relative
number of time a voter makes a swing, taking into account the size of the swing:

6(0) ;:% S A0
" oelli=1,

It is easy to see that this expression coincides with the one of Th. 3. Clearly, the abstention
option is not considered in the expression of ¢;(v).
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5.2 The Felsenthal-Machover power index

For binary voting games, the definition of the power index of a voter + € N can be also based
on the notion of binary roll-call [5, 6]. A binary roll-call R is composed of an ordering o of
the voters and a coalition Dy which contains all voters that are in favor of the bill. Roll-calls
are interpreted as follows. The voters are called in the order given by og: og(1),...,0r(n).
When a voter 7 is called, he or she tells his or her opinion, that is to say in favorif i € Dg
or against otherwise. Let 7 be the smallest index for which the result of the vote remains
the same whatever voters called at position j + 1, ..., n say. The pivot Piv(v, R) for game
v and roll-call R is the voter og(j) called at position j. The opinion of the voters called
after Piv(v, R) does not count. Voter Piv(v, R) is decisive in the result of the vote since if
the bill is accepted (i.e. v(Dg) = 1) then Piv(v, R) is necessarily in favor of the bill (i.e.
Piv(v, R) € Dg), whereas if the bill is rejected (v(Dg) = —1) then Piv(v, R) is necessarily
against of the bill (i.e. Piv(v, R) € Dg). So, it seems natural to define the power index
#FM(v) of voter i as the percentage of times i is the pivot in a binary roll-call [7, 6] :

~ {R€ By, i= Piv(v,R)}|

FM
¢i (U) |BN| )

where By is the set of all roll-calls, and |By| = 2"n!. The importance index ¢™(v) is
exactly the classical Shapley value [7].

In a similar spirit, Felsenthal and Machover have proposed a power index for ternary
voting games based on the notion of ternary roll-call [8]. A ternary roll-call R is a triplet
R = (o0g, Dgr, Fr) composed of an ordering og of the voters, a coalition Dg which contains
all voters that are in favor of the bill, and a coalition Er which contains all voters that are
against the bill. The voters in N\ (DrUER) are abstentionist. The set of all ternary roll-calls
for the voters N is denoted by 7y. As previously, when a voter i is called he or she tells his
or her opinion, that is to say in favorif i € Dg, against it © € Ei or abstention otherwise.
The pivot Piv(v, R) is defined as previously. The following definition is then proposed [8] :

_ H{Re€1Iy, i= Piv(v,R)}|
| 7n| ’

¢i"(v)

where |7y| = 3" nl. This index will be referred to as the F-M power index.
Let us make the expression of the F-M power index more explicit. Let Ly := {og(1),...,0r(k)},
and suppose that the pivot is voter og(j). Then, by monotonicity of v, the result of the
vote remains the same whatever voters called at position 7 + 1, ..., n say if and only if
v(L; N D, (L; N ERr)U(N\ Lj)) =v((L; N D) U(N \ L;), (L; N ERr)). As a consequence,
the pivot og(j) = Piv(v, R) satisfies

U(Lj N DR, (LJ N ER) U (N \ LJ)) = ’U((Lj N DR) U (N \ Lj), Lj N ER)
U(Lj_l N DR, (Lj—l N ER) U (N \ Lj—l)) (14)
#v((Li—1NDr)U(N\ L;—1),L;—1 N ER)

Since

(Lj—1 N Dg, (Lj-1 N ERr) U (N \ Lj—1)) E (L; N Dg, (L; N Er) U (N '\ L))
C ((L; N Dgr)U(N\ Ly), L; N ER)
C ((Lj-1 N Dr)U (N \ Lj-1), Lj—1 N ER)
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we have

(% (Lj—l N DR, (Lj—l N ER) @) (N \ Lj—l)) S (% (LJ N DR, (LJ N ER) U (N \ L]))
v((L; N DR)U N\ Lj), L; N ER)
<v((Lj-1NDr)U(N\Lj_1),Li—1NER).

Since the range of v is {—1,1} and due to (14), og(j) is the pivot Piv(v, R) if and only if
we are in one of the following two cases :

o v(L;_1NDg, (Lj1NER)U(N\L;_1)) = —1 and v(L; N D, (L; N Eg) U(N\ L;)) = 1.
U((LJQDR)U(N\LJ)7LJQER) = —1 and U((Lj_lﬁDR>U(N\Lj_1),Lj_1mER) =1.

It is easy to see that the first case cannot happen when ogr(j) € Egr. If or(j) € Dg,
the first case occurs if and only if v(S U {og(j)},T) = 1 and v(S,T U {or(j)}) = —1
with S = L,y N D, T = (Lj—1 N Eg) U (N \ L), that is to say if and only if v(S U
{or(1)},T) —v(S, TU{or(j)}) = 2. If og(j) € Dr U ERg, the first case occurs if and only
if v(S,T) =1 and v(S,T U{or(j)}) = —1 with the same definition for S and 7, that is
to say if and only if v(S,T) — v(S,T U {or(7)}) = 2. In this first case, the final decision is
yes since v(L; N Dg, (L; N Eg) U (N \ L;)) = 1. It is impossible that the pivot says no (i.e.
or(j) € Er). Hence, if the bill is accepted then Piv(v, R) is necessarily either in favor of
the bill or abstentionist.

The second case cannot happen when og(j) € Dg. If og(j) € Eg, the second case occurs
if and only if v(SU{or(j)},T) =1 and v(S,TU{or(j)}) = —1 with S = (L;_1 N D) U(N\
L;), T = L;_1NEg, that is to say if and only if v(SU{or(j)},T) —v(S,TU{or(j)}) = 2. If
or(j) € DrUER, the second case occurs if and only if v(SU{or(j)},T) = 1and v(S,T) = —1
with the same definition for S and 7', that is to say if and only if v(SU{or(j)},T)—v(S,T) =
2. In this second case, the final decision is no since v((L; N Dr)U(N\L;), L,NER) = —1. It
is impossible that the pivot says yes (i.e. or(j) € Dg). If the bill is rejected then Piv(v, R)
is necessarily either against the bill or abstentionist.

From the previous cases, we obtain

B = Y

(ST)EQIN\{i})

v(SU{i},T) —v(S, TU{i}) Z Ki(n— k— 1)1 Z ze(lfj))E)Sngr\? ]
2 KCNi) T=(ENK)U(N\(KU{i}))
T= (EﬂK) (N\(KU{Z}))
KCN\{i}
N v(SU{i},T) —v(S, TU{i}) Z Ki(n— k— 1)1 Z ,é%E)ﬁféﬁ%
2 KCN) S=(DNK)U(N\(KU{i}))
n v(SU{i}, T Z kl(n—k—1)! Z DB TaBhic 1}
S=(DNK)U(N\(KU{i}))
KCN\{i}

Consider the first term in the right hand side of previous relation. One has

(D,E)EQ(N)
T = E El(n —k—1)! E ieD , S=DNK
K . T=(ENK)U(N\(KU{i}))
CN\{i}

D' \E)eQ(N\{i
= Z El(n —k —1)! D:(D’U{)i} ,(sigr)ﬂ( 1
KCN\{i} T=(ENK)U(N\(KU{i}))
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We write D' = SUD", F = T'UE" with T" € K and (E",D") € Q(N \ K). Then
K=(N\(TU {Z})) UT'. Previous term is equal to

(B, D")EQ(N\K)
Since Z(E”,D”)GQ(N\K) 1 - 3n_k_1, we get

Ti=> (n—1—t4t)(t—t)3""

T'cT
Set

tll / t—t’
m = 3%'2 n—l—t+t)(—t)!3 .

Then 7; = 3" n!n,. The other terms in the expression of ¢ (v) are computed similarly. We
obtain

) = 3 [+ %) @S UG T - (s 1)
(8,7)eQ(N\{d})

(m n ’;) (w(S, T U {i}) — v(S,T))] .

From the expression of ¢;(v), the power index ¢I™(v) satisfies the axioms (1), (n), (s).
Moreover, since for any ternary roll-call R there is one and only one pivot, one clearly has

> o) =

ieN
Hence, since v(N,0) = 1 and v(0, N) = —1, 2¢!M(v) satisfies the axioms (1), (n), (s) and
(e).

From the study of the two cases explained earlier, we see that Piv(v, R) is not always so
decisive in the final decision made since it can be abstentionist.

Comparing the expressions of ¢™™ and ¢2" +,¢2" ~, we see that ¢"™ contains the same
terms as ¢2N++¢2N_, but combinatorial coefficients are different. It remains an open problem
to know whether the F-M index could be recovered as a particular case of a Shapley-Shubik-
like index.

5.3 The multi-choice games

Hsiao and Raghavan have introduced multi-choice games, where each player has several
ordered levels of participation og,0y,...,0,, at disposal [12], action oy corresponding to
doing nothing. Let 3 :={0,1,...,m}, any x € 5" describes the level of participation of each
player in N. Each action o; has a weight w(j) representing the importance of this action,
and it is assumed that 0 = w(0) < w(1) < --- < w(m).

A multi-choice game is a function V' : f" — R satisfying V'(0,...,0) = 0. Hsiao and
Raghavan define a power index or value as a matrix whose terms are denoted by ¢;;(V),
representing the power index or value of player ¢ when he takes action o; in game V. They
propose the following definition, coming from axiomatic considerations.

_pylel w(zi)
03V Z 2 | 2 OV s e T )

k=1 zepn\0,z;=k | LCM;(z)

x (V(z) = V(e —b({i})))
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where ||z, = >0 w(w,), Mi(z) = {k #i, xx #m} b({i}) = (1;, 0n i)

Theorem 4 The Shapley values for a bi-cooperative game v are related to the value of multi-
choice games as follows:

¢; (v) = du(V) and  ¢; (v) + ¢ (v) = g2 (V) (15)
withm =2, w(0) =0, w(l) = w(2) =1, and v(S,T) = V(2s, ILn\(sur), 0r), V(S,T) € Q(N).
Proof: For simplicity, we denote V'(2g, 17, On\(sury) by v(S,T).

Let S = {k, x, =1} and T' = {k, x, = 2}. Since ||z||, = |S| + |T|, M;(z) = N \ (T'U1)
and > o (w(z, +1) —w(x,)) = |LN(N\ (SUT))|, we have

(8, 1)eQ(N LCN\(TUi)

( 1)|LI _
= Z),@-es< 2 S+T+Lm<N\<SUT>>)<V(S’T>”S\“T”

(-
I R RN TRV

LCN\(TUi)

(_1>ll+l2 ey 11+l n—s—t s—1 1
— — —1)aré
Z s+t+1 ZZ( ) L ly s+t+1

L1CN\(SUT) , LoCS\i 11=0 [l2=0
ke htty ([ M—8—1 s—1 Lttt
S S () () [t
1h=0 lo=0 1 2 0
1 [/n—s—t1 ¢ s—1 1
= A ) e ey, ) e
0 11=0 ll l2=0 12
fol(l — )yl gy = DOl e g g
N { 0 otherwise .
Hence | Y
)= 3 M =R i) v )
TCN\i )
We have

$2:(V) = (V)

(-1 -
: Z)ig( 2 S+T+Lﬂ(N\(SUT)))(V<S’T)V(SUZ’T\@))

(S,T)eQ(N LCN\T

= ou(V)+ > ( \(Z %) (V(S,T) = V(SUi,T\ 1))

(S,T)€Q(N) ,i€T SUT) , LyCS

One can show as previously that

Z (_1)ll+l2 _{ (s+t—1)!(n—s—t)! ifs=0

= n!
LiCN\(SUT) , LyCS s+t+l 0 otherwise

20



Hence

ouv) = 3 222 D g mua) - v, 1)

n!
TCN\i

Let v be the bi-cooperative game associated to V' :
V(S,T)=v(T,N\ (SuUT)) .

It is easy to see that ¢; (v) = ¢1;(V) and ¢; (v) + ¢ (v) = ¢oi (V). u

For a multi-choice game with m = 2, the payoff for each player if they all participate at
the highest level depends of their contribution at the intermediate level of participation. We
see that our definition corresponds to a multi-choice game in which the best two alternatives
(abstention and defender) have exactly the same weight. This is a degenerate multi-choice
game since the payoff is exactly the same when choosing abstention or defender. For such
degenerate multi-choice game, one feels that the contribution of the players at the intermedi-
ate level do not count any more to compute the payoff for each player if they all participate
at the highest level. As a consequence, it is useless to consider two separate options if we are
only interested in the overall importance index ¢; (v) + ¢; (v). This gives an interpretation
of the indices we came up with in the framework of multi-choice games. Our indices are
based on an equity between the defender and the defeater parts (see (UG) and (I)).
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